
Input correctly the following expressions in Excel: 
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d)__Mean of five values and bar chart representation of the values. 

 

e)  23)( 2
+−= xxxf     with x values in A4. Find the value of the expression for the 

following values of x. x=5,6,-3,-2,0,12,156,-347 
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xf    with x values in A4. Find the value of the expression for the following 

values of x. x=5,6,-3,-2,0,12,156,-347 
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=       with x values in A4. Find the value of the 

expression for the following values of x. x=5,6,-3,-2,0,12,156,-347 

 

 

h)  2)5()( −= xxf   with x values in A4. Find the value of the expression for the 

following values of x. x=5,6,-3,-2,0,12,156,-347 

 

 

i)  42 )1()( −= xxf    with x values in A4. Find the value of the expression for the 

following values of x. x=5,6,-3,-2,0,12,156,-347 

 

 

 


